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The Context switch

To keep the context in our conversations, we will need to look for the context from previous queries. This is stored in the
standard context variable called "context".

By building a context switch as a default workflow in our entity switch. We will first evaluate if there is new context to the
conversation. If there is no new entity, we will run the default workflow, which is a context switch that will evaluate if there is
context from a previous query.

The context switch works just like the entity switch but will look for one single variable instead of multiple entity-variables.
The variable we look for in this case is “context”. Remember, in the entity switch, the entity is stored as “context” and then
thrown away as an entity when the entity switch was run.

boats: BAI - Prices-Boals
=+ Context Switch

Context Variable: context
aircrafis: BAl - Prices-Aircrafis

irains: BAl - Prices-Trains

Default BAI: Prices-default

The default workflow in our context switch is our fallback.

When we ask the bot “How much is it”, We are not stating a “something”. There is no entity in our query.

The intent will trigger the connected response, which is the entity switch. But the entity switch will not trigger though there is
no entity in the query.

So, the default workflow in the entity is triggered. This default workflow is a Context switch. The previous entity (boats), was
stored in “context”.Therefore, the contextswitch for “prices” will trigger the workflow for “prices-boats”.

You: | want to have info on boats

BOT: | can give you information
about boats...

You: how much is it?

BOT: Prices for boats are very
cheap! Only 500£ at the moment!
It's a bargain!

The "default” workflow

If 1 do not have an entity, nor a context variable from a previous query.

Then the chatbot would not understand what product we are asking about. This is when the default workflow in the context
switch will be triggered.
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You: how much is it?

BOT: | understand you want to
know the price of a product. But |
didn't get which product.

[ Cars ] [ Trains ] [ Aircrafts ]

So, this is the flow.

Customer queries: "l want to have information on a product”

Intent matches "Need information™ without any entity. Default workflow, ContextSwitch is hit.
No context from previous query

aircrafis: Needinformation - aircrafs

4+ Confext Switch

Context Variable: context
boats: Needinformation - Boats

cars: Needinformation - cars

A, Enlity Switch

cars. Needinformation - cars

aircrafts: Needinformation - arcrafis
trains: Needinformalion - trains

trains: Needinformation - frains

Default: Needinformation - Default

boats: Needinformation - Boals \
Defaull: Needinformation - ConlextSwitch

BOT: You wanted to see
information on a product, but |
didn't get which one.

The default workflow in the ContextSwitch is struck. Triggering a response and some options for the customer to choose
from.

If the visitor query would be "l want to have information on boats".

“l want to have information on a boat.” Boats information is triggered. Entity is stored in “context” and
forgotten as an entity.

Intent match (product information), Entity found “Boat”
BOT: Welcome to the bot about

boatsé , trains< , cars+s, and
cars: Needinformation - cars airplanes<

A, Enlity Switch

aircrafts: Needinformation - aircrafis.
BOT: What can | do for you?

trains: Neadinformation - frains

You: | want to have information
on boats

boats: Needinformation - Boals

Default: Needinformation - ContextSwilch T

——a BOT:|can give you information
about boats...

If we now query the bot with a new intent. "How much does it cost?"
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Default workflow in entity switch is triggered. Which is a context
switch. context has been set to “boats” in previous query,

Intent match (product pricing), No entity found.

boats: BAI - Prices-Boats

=+ Context Switch
Conlext Variable: context

boals: BAI - Prices-Boats

A, Entity Switch _ . _
aircrafts: BAI - Prices-Aircrafts

cars: BAI - Prices-Cars

trains: BAI - Prices-Trains
aircrafts: BAI - Prices-Aircraits

trains: BAI - Prices-Trains cars: BAI - Prices-Cars

Default: BAI - Prices - ContextSwitch Default: BAI: Prices-default

You: How much does it cost?

BOT: Prices for boats are very
cheap! Only 500£ at the moment!
It's a bargain!
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